
Main principle of a two-point heating control (without hysteresis)
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Requirement:

A two-point heating control is to be realized with xLogic. Thereby the outside temperature and flow temperature is measured by two temperature sensors (PT100). If the outside temperature drops, the flow temperature is to be increased and vice versa.

xLogic compares the two temperature levels of the outside- and flow temperature at function block B004.

If the switching on threshold is reached, the heating turns off.

The slope of the heating curve is affected by the parameters of the analog amplifier B003.

In the analog comparator each threshold is "0", this means its output will switch on if the difference of Ax and Ay > 0.

(Ax and Ay are the input signals of the analog comparator.)

In detail:

B002: Scaling of the sensor connected to AI3, resolution 0.1°C

B001: Scaling of the sensor connected to AI4, resolution 0.1°C

B003: Gain and Offset of the outside temperature.
B004: Compares outside temperature with flow temperature.

Advantages and Specialties:

Low-cost solution with xLogic opposite to conventional heating controls.

Can be easily adjusted to the individual requirements.
Warning:

Unsafe operating conditions can cause controllers to fail, resulting in unchecked operation of controlled devices.

Such hazardous events can cause death and/or serious injury and/or material damage. You must therefore provide an emergency stop function and electric or other redundant safety devices that are independent of your automation system.


